
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Negative eksponenter på 10

671, 2 ÷ 10 =(−3) 376, 5 × 10 =(−3)

1 × 10 =(−3) 5 × 10 =(−3)

643, 8 ÷ 10 =(−1) 10 =(−1)

2 × 10 =0 10 =(−3)

10 =(−4) 10 =(−1)

604, 1 × 10 =(−3) 495, 2 × 10 =(−4)

−1 × 10 =(−3) 697, 2 ÷ 10 =(−3)

9 × 10 =(−2) 10 =(−3)

−3 × 10 =(−2) 3 × 10 =0

10 =(−3) 4 × 10 =2
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Negative eksponenter på 10

671, 2 ÷ 10 = 671200(−3) 376, 5 × 10 = 0.3765(−3)

1 × 10 = 0.001(−3) 5 × 10 = 0.005(−3)

643, 8 ÷ 10 = 6438(−1) 10 = 0.1(−1)

2 × 10 = 20 10 = 0.001(−3)

10 = 0.0001(−4) 10 = 0.1(−1)

604, 1 × 10 = 0.6041(−3) 495, 2 × 10 = 0.04952(−4)

−1 × 10 = −0.001(−3) 697, 2 ÷ 10 = 697200(−3)

9 × 10 = 0.09(−2) 10 = 0.001(−3)

−3 × 10 = −0.03(−2) 3 × 10 = 30

10 = 0.001(−3) 4 × 10 = 4002
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